Secondary Math III						Name:_________________________________________________
Unit 11 Review						Period:___________

Convert the radical to exponent form and vice versa:




1. 			2. 				3. 				4. 




Simplify the following. Give exact answers:





5. 			6. 				7. 			8. 	











9. 			10. 		11. 		12. 









13. 			14. 			







Solve the following equations, check for extraneous solutions:




15. 				16. 			17. 












18. 		19. 			20. 


			

 







21. 						22. 			












23. 					24. 









Write the transformations from the parent function and state the domain and range:



25. 					26. 








27. 				28. 





[image: ]Graph the following and state the domain and range:
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29. 						30. 
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Write the equation for the following graphs:
[image: Macintosh HD:Users:wstone:Desktop:Screen Shot 2015-03-25 at 10.42.51 AM.png][image: Macintosh HD:Users:wstone:Desktop:Screen Shot 2015-03-25 at 10.40.45 AM.png]
 33.								34.  
















35. The diameter d in inches of a rope needed to life a weight of w tons is given by the formula . How much weight can be lifted with a rope with a diameter of 1.5 inches? (Round to the nearest tenth.)











36. For a spinning amusement park ride, the velocity in meters per second of a car moving around a curve with a radius r meters is given by  where a is the cars acceleration in m/s2. If the ride has a maximum acceleration of 25 m/s2 and the cars on the ride have a maximum velocity of 10 m/s, what is the smallest radius that any curve on the ride may have? 
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